The integral that represents the volume of the solid ob-
tained by rotating the region enclosed by y = 3r, y = 7+ 2,
and y = 0 about x-axis is

A) ffz(:r. +2)%dr + [ 9a2dr

B) [l(z+2)%r + [ dzidx

C) ["y(x +2)%dr — [(—822+ 4z + 4)dx
D) [y (% +2)dy

E) f_l..,(:rt-%-'.!)"’dr -+ J:: (1 = 2r)%dr
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The integral that represents the arc length of the curve
y = Inz from the point (e,1) to the point (e%,2) is:

A) [CVaT+1dz
B) [; Y5 dr

o) I fregts
D) [ d

E) [ y/e +1dy
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The integral that represents the volume of the solid obtain
region bounded by the curve y = Scos?(5x) and the lines

y=0,x= --:'—o.x =-:%aboul the liney = 06 is:

A) n ]i(l20cos’(5x) — 50cos *(5x))dx

B) m['% 10cos*(5x)dx
Jﬂ
C) m['% Scos?(Sx)dx
JI
D) m ['%(60cos?(5x) — 25c0s*(5x))dx

E) m['% 25cos*(5x)dx

(LY
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A) 7 ["%(120c0s*(5x) — 50cos* (5x))dx

10

B) = J"% 10cos*(5x)dx

10
n

C) % Scos®(5x)dx

10

Dy J*5(60cos?(5x) - 25(;05"(!':.\'))d.r_‘-‘

S 10
n

E) m ['% 25cos*(5x)dx




(By cylindrical shells) The integral that repr

ume of the solid obtained by rotating the regic
y=¢"yy=2and r =0 about r = -1 iy:

A) 2x _ﬁ:"?(;r + 1)(2=¢") dr

B) 27 [("*(x - 1)(2 ~ ¢*) dz

C) 2z [("(1 = x)(2 - ) dr
D} 2z [("*:0(2 — ¢*) or

E) 25 ﬁy Iny dy
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The Integral that represents the area enclosed by y=x+1,
x=0is

A) 12—y + [;° G - 2y)dy
B) [ (x + 1)dx + [; (2 — x)dx

q) 2 (2 - x)dx ®

o) - 29y

E)f;(Z — y)dy + .!'f":(y ~ 1)dy

A -

B






(By cyl'mdrical shells) The integral that represents the vol-
ume of the solid obtained by rotating the region bounded by
Yy = +? and y = 6x about r — aris is:
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The area of the surface obtained by rotatin
y=V4—xZ. —1<x <1, about the x -

A) 4nm
B) 2n
C) 8
D) 8
E) 4
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The integral that represents the arc length of the curve
y = Inz from the point (¢~!, —1) to the point (e, 1) is:

A) [LuVer +1dy

B) f_ll @ dx

Select one:
O A
OB
1o Ji o
O D
OE



we are given equation as

y = In(x)

we can find derivative

dy 1

dx I I

now, we can use arc length formula

L_/\/l—f— )2dx

now, we can set up mtegral

L= / \/1 = & (l)zd?c
Je—1 I

Hence,
option-E........ Answer




Set up the Integral that represents the volume of
the solid obtained by rotating the region
bounded by the given curves about the specific
line.

B = 2\/§,x=0,y= 9 ; about the y axis



This is a problem where you will need to
integrate with respect to y, rather than x.

Once the function is revolved around the y axis,
imagine slicing it horizontally into many thin
discs. the area of one disk would be mr?, so the
area at any point on the y axis would be m(2vy)?
= 4my.

To find the volume of these disks, integrate with
the boundaries y=0 (the x axis) and y=9

[o4my dy=2my’ |y = 2x(81 —0) = 1627



(By cylindrical shells) The integral that represents the vol-
ume of the solid obtained by rotating the region bounded by
Yy =+/Z, y=3 and z =0 about y = 3 is:

A) 27 [(3+y)y? dy
B) 27 [,(3 - y)y dy

C) 27 [3(3 — y)y? dy
D) 27 [, (y — 3)y* dy

E) 27 [“; y> dy
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Question 3. Find the volume of the solid that results when the region enclosed
by y = z? and y = z° is revolved around the line y = —1.
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The integral that represents the volume of the solid
obtained by rotating the region bounded by the curve

y = 3e~2%"and the lines y = 0,x = 0, x = 8 about the
X —axis 1s:
8 —2x*

A) 18m [ e™** dx

B) 91 f088‘4x2dx

C) 9 f086‘2x4dx

D) 187 f086'4x2dx

E) 6m foae‘z"zdx
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The integral for the area of the surface obtained by rotating the curve y? =

z+1.0<x2<3, y>0 about the x-axis is:
3

(a) /W\MJ,‘ + ldx
U:;

(b) /11'1.,;"'4:!7 + Hdx
03

(c) .[mMI + 9dzx
n:;

(d) fwv:la: + 13dx
0

3
() ] A Veresi



Use the slicing method to find the volume of the solid whose base
is the region inside the circle z? 4 y? = 1 if the cross sections taken
perpendicular to the y—axis are squares

16 16
(A) 1§ (B) =¥
5 8
(C) &” (D) 3
4
(E)g
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The integral that gives the volume when the region enclosed by
y =, y = /7 is revolved about the line y = —2. (Use cylindrical
shell method).

(A) = /l(ﬁ—x“}" da (B) 27 f (2 + 2)(VE — %) da
1] (1]
(C) 2n f @+~ ¥F) dy (D)2 [ (2 — y)(F - v°) dy

(E) zwfn (2 + ) (YT — °) dy
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The formula for the general term a,, of the

sequcnce

CLER
8 1471y

2
n°+1
A) n = n?-1

I

Biaj

Cha,

D) a, =

E)a, =



-
The arc length of x = ~(y* + 1)? from (0.-1) to (2,1) is

(A) f_ll Jye+2y3 +2dy

B) [, VI+9x0+18x7+9x" dx

© [LJ1-4y"P —16y’—16y° dy

D) [ J1+9y1 +18y7+9y* dy

(B) 3 Vx®+2x% + 2dx

m

[




If the region enclosed by the y—axis, the line y = 2, and the curve
¥ = 4/ is revolved about the y—axis, the volume of the solid gener-

ated is
(A) = (B) o=
(C) = (D) %
(E) 2=

I

o

Correct answer

@ E



The integral that finds the volume obtained by rotating the region
enclosed by y = 22 and y = 8 — 22 about the line z = 5

2 2

(A) 27 /_2 (5 — z)(8 — 22?) dz (B) 2x /_2 (5 + z)(8 — 22?) dx
VB 2

(C) 2r /_ﬁ &= 2)(8—2% do (D) 2n /_2 (8 — 22?) da

2
(E) 27?[_2 (5 — z)(8 + 2z?) dz



